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400 600 400 600
040 5152 8540 490 924 
045 6440 10675 602 1135 
050 6992 11590 658 1241 
056 8462 14030 798 1505 
063 9936 16470 938 1769 
071 12512 20740 1190 2244 
080 14720 24400 1400 2640 
090 19136 31720 1820 3430 
100 21344 35380 2030 3828 
112 26496 43920 2520 4752 
125 38272 63440 3640 6864 
140 45632 75640 4340 8185 
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 10 -
: 

• ……………………………………….4 4 3 (h) 
•  –  ( )…..150 
•  -  ( )…..…….150 
•
•  (t . .)…….…..….50°
•  (t . .)…..…..40°
•  (t . .).……………….......30°

………………………..….…….2 
 (t . .)…………….....400°

 1 
 1  q  1  t . . = 400° ; q = 2030   

 (2 ): 
Q  2 = q  2=4060 

 2  
,  1 2 :  

q=  (t . . - t . .), / 2

:  - ;  = 8,7 / 2  ( ) 
q = 8,7  (50-40) = 87 / 2

, : 
Q . . . = q  F . . . = 87  80 = 6960 
F . . . = 80 2

 Q  2  Q . . .
4060  < 6960 

. 
. 

 3 
 1 : 

Q . . .  1  =  (t . .-t . .) , 
: 

 - , / ° , ., . = 0,25 / °  ( ) 
 - , 

M ., . = F . . . . .
: 

F . . . = 80 2

. = 1800 / 3 ( ) 
M ., .= 80  0,15  1800 = 21600 
Q . . .  1 = 0,25  (40-30)  21600 = 54000  = 46440 

 2 : 
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Q . . .  2 = 46440  2= 92880   

 Q .  2  Q . . .  2 : 4060  < 92880 

. 

 2. 

 10 -
: 

• ……………………………………………………………………..4 4 3 (h) 
•  – :  ( )…...1,5   

 ( ) ……………………50 
•  -  ( )……………………….……………...150 
•
•  (t . .) ………………………………………….50°
•  (t . .). ……………………………..………………40°
•  (t . .). ………..…………………………………………………….30°   

 (t . .) ……………………….…………….………400°
…………………………………………………..………….…2 

 1 
 1  q  1  t . .= 400° : q = 2030   

 (2 ): 
Q  2 = q  2 = 2030  2 = 4060 

 2 
,  1 2 : 

q=  (t . . - t . .), / 2

: 
 - , / 2   

. = 8,7 / 2  ( ) 
. = 20 / 2  ( ) 

q . = 20  (50-40) = 200 / 2

q .= 8,7  (50-40) = 87 / 2  
, : 

Q . . .= q  F . . .
F .= 48 2; F .= 32 2  

Q . . . = (200  48) + (87  32) = 12384   
 Q .  2  Q . . . : 4060  < 12384 

. 
. 

 3 
 1 : 

Q . . .  1  =  (t . .- t . .) , 
: 

 - , / ° ,  
. = 0,5 / ° ;  . = 790 / 3 ( ) 

= 0 / ° ;       = 200 / 3 ( ) 
F . = 80 2 

 – , 
. = 380  ( , ) 

 = 800 
Q . . .  1 = 0,5  (40-30)  380 + 0  (40-30)  800 = 1900  = 1634 

 2 : 
Q . . .  2 = 1634  2 = 3268   

 Q .  2    Q . . .  2 : 4060  > 3268 

,  396 : 
[(4060 – 3268)/2  = 396 )] 

 4 
:  

L = Q  3,6/  (t . .- t . .) 
: - - 1,005 / °

 - -1,24 / 3

L = 396  3,6/ 1,005 1,24  10 = 114,4 3 /
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 3. - ,

 10 -
: 

• …………………………………………………4 4 3 (h) 
•  –  ( )……………..150 
•  -  ( )……………………150 
•
•  (t . .).……………………….50°
•  (t . .)……………….....40°
•  (t . .)……………………………….30°

……………………………….……..…….…..2 
 (t . .) …………………….….…...400°

 1 
 1  q  1  t . . = 400° : q = 21344 

 (2 ): 
Q .  2 = 21344 2 = 42688 

 2 
 1 , 

. 
Q . . .= q  F . . . = 87  80 = 6960 

 Q .  2  Q . . . : 42688  > 6960 

,  - 17864 :  
[(42688 – 6960)/2  = 17864 ] 

 4 
. 

L = Q  3,6/  (t . .- t . .) 
: - - 1,005 / °

- -1,24 / 3

L = 17864  3,6/ 1,005  1,24  (50-40) = 5161 3/ . 

-
, 

. 


